12. BR-Kk&
12—1 KEDIRR
K4y [k (o) B (Fod) | okttt (kA oo G50 T s (%)

23 11, 627 15, 937 32, 668 92, 604 344 99.7
(_E7K I8 Hhia) 10, 586 14, 532 28, 820 82, 955 349 99. 8
(18 5 7K Hide) 1,041 1, 405 3, 848 9, 649 296 98. 6
24 11, 620 16, 430 32, 793 92, 163 345 99. 8
(_EoK3E i) 10, 597 15,019 28, 935 82, 562 352 99. 8
(f8 2 7K i Hhlsk) 1,023 1,411 3, 858 9,601 292 99. 6
25 11, 338 16, 087 32,911 91, 302 340 99. 7
(_EAKE Hik) 10, 360 14, 753 29, 044 82, 069 346 99. 8
(18 2 K38 Hhlsk) 978 1, 334 3, 867 9, 233 290 98. 8
26 11, 202 16, 203 33, 052 90, 761 338 99.7
(_E7KGE i) 10, 220 14, 938 29, 254 81, 785 342 99. 8
(f8 5 7K i Hhlsk) 982 1, 265 3, 798 8,976 300 98.8
21 11, 040 16,610 33, 209 90, 236 334 99.7
(EKE ) 10, 096 15,279 29, 405 81, 449 339 99.8
(F8 S 7K EHhisk) 944 1, 331 3, 804 8, 1817 294 98.8

(F) ERRT, FARKANAEZRAATERLIELO,
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5 s | sy || 2 B |G e | it kpeteAn | ik | Adeler
< 7 * (M %) 4 | A0 OO 0 00 (N (%) (%)
Rk 26 AREE a3 T KGE B 5] 57, 239 57,019 56, 358 99. 6 98. 8
R BRI A
IETAGE 5] FH 3, 037 3, 037 3,001 100. 0 98. 8
ﬁf%iﬁg@ B /NG H 7,787 7,787 7,601 100. 0 97.6
PERERES  m o kR wmR 2,275 2,275 2,135  100.0  93.8
REEEHK B TaE 307 307 307 100.0 100.0
EIEERYEK B T B 1,037 1, 037 1,015 100. 0 97.9
REEEHK B PR 845 845 839 100. 0 99.3
YK B BaBlE] | 237 237 237 100. 0 100. 0
EEERYEK B S 347 347 328 100.0 94.5
BEEEYK M P 744 744 735 100.0 98. 8
R PEK B [lizg g 964 964 932 100. 0 96. 7
2322747 7V B Frd - KFEE 1, 338 1, 338 1, 284 100. 0 96. 0
A gk /N 76, 157 76, 157 75, 937 74,772 99.7 98.5
g YEK K BN - BB 443 443 431 100. 0 97.3
AR R EoR 1, 166 1, 166 1,124 100. 0 96. 4
BTk R PR 616 616 568 100. 0 92.2
Bk i Rk 846 846 777 100. 0 91.8
ERERHEK R T2k 256 256 248 100. 0 96.9
Bk e IR 173 173 154 100.0 89.0
= SEUNC S PAN
gz,{gg'{%gf R K MR 19 19 19 100.0  100.0
W+ Se=ig UPAN . N
TR R # W 4 4 41000 100.0
ENE S TN 3,523 3,523 3,523 3, 325 100.0 94. 4
ﬁf%ffﬁﬁ e e 1,414 1, 355 1,121 95.8 82.7
BEERHOK RAF BE 309 309 201 100. 0 65.0
T = i N E 2,048 1,723 1, 664 1, 322 96. 6 79. 4
fﬁf%ﬁ%* ) R 5, 741 5, 741 4, 846 100. 0 84. 4
31 Hig N 6, 272 5, 741 5, 741 4, 846 100. 0 84. 4
s i, A . =y .
iﬁ?ﬁﬁg@ A ggﬁ eLy 1,210 1,210 1,062  100.0  87.8
BAEERHK L2 BRI - 1TE 335 335 311 100. 0 92.8
EREWHEK 2R W\rE 131 131 119 100.0 90. 8
2 R N 1, 762 1,676 1,676 1, 492 100. 0 89.0
PR RIR A R 200 200 193 100.0 96. 5
EEETEPEK AL o) 223 223 204 100. 0 91.5
BEEEEWHEK Bl = K 224 224 190 100. 0 84.8
BTSRRI RISk 438 438 331 100. 0 75. 6
BEEEERHK ORI & A 100 100 75 100. 0 75.0
MR I N 1, 295 1,185 1,185 993 100. 0 83.8
= Eis 91,057 90,005 89,726 86, 750 99. 7 96. 7
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L i e it ; ;
N e 1 ‘ A B OX | AT bk A : ABEAR | Wk | Kk
R 2 ) IO DNERONES K (ool K (ool ION %) (%)
Rk 27 AREE|a I T KGE 5] 5] 57,119 56,913 56, 331 99. 6 99.0
R BB A
LT AGHE 5] IR 3,025 3, 025 2,987 100. 0 98.7
iﬁ%ﬁ%g@ B /NG H 7,762 7,762 7,583 100. 0 97.7
PERERS  m kR R 2,250 2,250 2,111  100.0  93.8
REEEHK B TaE 306 306 306 100.0 100.0
PR B T JE 1,029 1,029 1, 009 100.0 98. 1
REEEHK B IRl 827 827 822 100. 0 99. 4
YK B BaBlE] | 229 229 229 100.0 100. 0
EREHEK B A 334 334 319 100.0 95.5
BEEEYK M Moo 726 726 718 100.0 98.9
RESERPEK B [lizg g 942 942 911 100. 0 96. 7
2322747 7V B TFrd - KFEE 1, 312 1,312 1, 262 100. 0 96. 2
] i dule /I 75, 861 75, 861 75, 655 74, 588 99.7 98.6
BTk g B - BBy 421 421 415 100.0 98.6
AR R EoR 1, 157 1, 157 1,119 100. 0 96. 7
AR R PR 589 589 549 100.0 93.2
Bk i Rk 828 828 765 100. 0 92. 4
ek B FT2E 249 249 241 100. 0 96. 8
BTk e IR 166 166 153 100. 0 92.2
= SEUNC SN
gggg{%@“ R K MR 16 16 16 100.0  100.0
+H = IPAN . N
TR R # W 3 3 3 100.0 1000
T s E 3, 429 3, 429 3, 429 3, 261 100.0 95. 1
ﬁf?ﬁfgé e e 1, 384 1, 326 1, 094 95.8 82.5
BEEEHOK RAF BE 313 313 205 100. 0 65.5
1 = i N E 2,017 1, 697 1, 639 1,299 96. 6 79.3
ﬁf%‘i}figi\ ) R 5, 742 5,742 4,911 100. 0 85.5
31 Hie N 6, 226 5, 742 5,742 4,911 100. 0 85.5
s i, A . =y .
iﬁ$$§% A ;qg[j'J eLs 1,184 1,184 1,043 100.0  88.1
BAEEHK Lok BRI - 1TE 327 327 305 100. 0 93.3
PR B2 B 120 120 108 100.0 90. 0
2 R SR 1,715 1,631 1, 631 1, 456 100. 0 89. 3
PR RIR A A 199 199 192 100.0 96. 5
EEETEPEK AR o) 215 215 199 100. 0 92.6
BEEEIK R = K 215 215 180 100.0 83.7
BEEETEIEK RIR RISk 420 420 305 100. 0 72.6
BAEEEHK ORI & A 95 95 68 100.0 71.6
IR I N 1,254 1, 144 1,144 944 100. 0 82.5
= Eis 90, 502 89,504 89,240 86,459 99. 7 96.9
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